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= 144,500 144,500 0
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= 131,340 30,540 100,800
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OSSN SALHE2SE

Z& 131,340,000 131,340 30,540 100,800

= 131,340 30,540 100,800

N 2et2d X3 3,485,300 3,265,300 220,000

= 8,000 8,000 0

s 135,000 135,000 0

S 3,342,300 3,122,300 220,000

=0l u=Ed2Y 220,000 0 220,000

307 Q12t0lH 220,000 0 220,000

02 It a2 x 220,000 0 220,000

Oe=208NsHA-3A2F 220,000 0 220,000

ANSt=&dst X 8,034,552 7,611,552 423,000

= 656,230 556,230 100,000

Il 472,000 469,000 3,000

&2 160,000 160,000 0

S 6,746,322 6,426,322 320,000

DIESE=FSE==mi= PNE= 1,503,345 1,523,345 220,000

= 406,230 406,230 0

p) 447,000 457,000 210,000

= 650,115 660,115 A 10,000

308 KNHXISHHSOIE 1,203,345 1,223,345 220,000

= 406,230 406,230 0

Il 297,000 307,000 A 10,000

= 500,115 510,115 210,000

01 MXEMISELS 1,203,345 1,223,345 220,000

OSUSSHHESHAEA S Z & 594,000,000 594,000 614,000 A20,000

_1_




SN
X XH .
S Tt

el

23tz

}
ZsttlssgaE

Aol=gdstX

(23t
=)

2|

[uing

A9
Mo

SNBSS - MBAY - BES o pJE-T s
Il 297,000 307,000 A 10,000
= 297,000 307,000 210,000
CE=H=2d 4,880,107 4,780,107 100,000
301 LptEasg 4,880,107 4,780,107 100,000
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WES=N e 100,000 0 100,000
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= 15,000 15,000 0
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= 15,000 15,000 0
02 2ItBAE X 30,000 27,000 3,000
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Il 15,000 12,000 3,000
= 15,000 15,000 0
SUHSAHHESHEE b= 20,000 0 20,000
Il 10,000 0 10,000
= 10,000 0 10,000
201 LEH2HH| 20,000 0 20,000
p) 10,000 0 10,000
= 10,000 0 10,000
01 AtS2t2itl 20,000 0 20,000
ORUHSHESMEAX AL 20,000 0 20,000
Il 10,000 0 10,000
S 10,000 0 10,000
feiteRelltg & 120,000 0 120,000
= 100,000 0 100,000
= 20,000 0 20,000
308 XHXIHHSOI 120,000 0 120,000
= 100,000 0 100,000
= 20,000 0 20,000
01 XM aEx 120,000 0 120,000
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= 100,000 0 100,000
S 20,000 0 20,000
Ltz SESH 200,000 0 200,000
307 2120l & 200,000 0 200,000
02 QItE3AE XL 200,000 0 200,000
Ol ZuUss 200,000 0 200,000
St SHALE K& 754,200 504,200 250,000
B IHEEY 640,000 390,000 250,000
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